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PART I : Multiple Choice, 10 points (each question is worth ½ point).
1.  When your aunt attended Cornell in 1980, she paid $250 for rent.  Coincidentally, you     now live in the same apartment in which she lived, and pay $600 for rent.  Suppose that the CPI in 1980 was 125, and in 2008 is 250.
a)    In real terms, you're paying more than your aunt
b)    In real terms, you're paying less than your aunt
c)    In real terms, you're paying the same amount
d)    It cannot be determined from the information given
Answer: A

2.  William lost his job four months ago and because of the poor economy has not bothered looking for another job. Frank quit his job six weeks ago and went back to school full time.  Elizabeth lost her full-time job as a bank teller last month. Since then, Elizabeth has been working one day a week through a temp agency. Which are considered unemployed according to the Bureau of Labor Statistics?         

a) William 

b) Frank 

c) Elizabeth 

d) Frank and Elizabeth 

e) None of the above 
f) All of the above
Answer: E
3.  Which of the following lowers an economy's natural rate of unemployment? 

a) An increase in the number of weeks a worker can collect unemployment insurance 

b) More efficient job search through use of the Internet 

c) An increase in the minimum wage 

d) The economy entering a recession
e )  None of the above
f)   All of the above
Answer: B

4.   Which of the following statements about gross domestic product (GDP) is correct?   

a)  GDP measures the market value of final goods and services produced 
     within a country. 

b)  GDP measures the market value of goods and services produced by U.S.   

     owned companies. 

c)  GDP measures physical quantity of goods produced in the United States. 
     Because there is no common unit for measuring services, they are excluded 
     from GDP. 

d)  GDP measures the market value of both intermediate and final goods and 
     services produced within a country. 
e) None of the above

Answer: A
5. If discouraged workers quit looking for jobs after the only employer in their town shuts the factory and moves to another country then:

a)      This is an example of structural unemployment
b)      This will not affect the unemployment rate after a couple of months
c)      This situation can’t be easily improved through monetary policy
d)     All of the above
e)      None of the above
Answer: D
6. If aggregate output is greater than planned aggregate expenditure, then which of the following adjustments to equilibrium will occur:

a)
There will be an unplanned inventory decrease and firms will reduce production

b)
There will be an unplanned inventory increase and firms will reduce production

c)
There will be an unplanned inventory increase and firms will increase production

d)
There will be an unplanned inventory decrease and firms will increase production
e)  
None of the above
Answer: B
7. In a closed economy with government. Which of the following will occur when the economy is in equilibrium?

a)   S=I
b)   G=T
c)   S + T=I + G
d)  I + T = S + G
e)   All of the above
f)    None of the above
Answer: C
8. When planned investment increases by a certain amount, the equilibrium level of output ____ by a _____ amount. 

a) increases, greater

b) increases, lesser

c) increases, constant

d) decreases, greater

Answer: A
9. If C=100+.7(Y-T) then which is true?

a) Cutting taxes by a given amount increases output more than increasing 

government expenditure by the same amount
b) The multiplier for decreasing taxes is equivalent to the balanced budget  

     multiplier

c) The investment multiplier equals the consumption multiplier

d) None of the above
e)  All of the above
Answer: C
10.  An equal decrease in government spending and taxes will cause

a) an increase in output

b) a decrease in output

c) no change in output

d) an uncertain effect on output

Answer: B
11.  The U.S. president decides to decrease income taxes by $100 billion in 2010. What affect would this have on the equilibrium level of output if MPC is 0.8 and the goods market is assumed to be independent from the money market (that is, we can ignore interest rate effects)?

a) Increase output by $25 billion

b) Decrease output by $25 billion

c) Decrease output by $400 billion

d) Increase output by $400 billion
e) None of the above
Answer: D
12. Suppose money supply is set by the Federal Reserve. When the Federal Reserve buys a government bond, the money supply is

a)   Not affected

b)   First decreased, then increased 

c)   Decreased

d)   Increased
e)    None of the above
Answer: D
13. When the Federal Reserve wants to increase the money supply in the economy it can

a)  decrease the required reserve ratio and increase the discount rate

b)  decrease the required reserve ratio and decrease the discount rate

c)  increase the required reserve ratio and decrease the discount rate

d)  increase the required reserve ratio and increase the discount rate

Answer: B
 

14. “Crowding out” occurs when

     

a)  The private sector approaches full capacity.

     

b)  Increases in government spending cause decreases in consumption.  

     

c)  Increases in private investment cause decreases in government expenditures.

     

d)   Increases in government spending cause decreases in private investment.    

Answer: D

15.  Suppose government expenditure is increased by $5 billion dollars. This will change GDP in the following way:

a)  GDP will decrease by $5 billion dollars.

b)  GDP will increase by $5 billion dollars.

c)  GDP will increase by less than $5 billion dollars.

d)  GDP will increase by more than $5 billion dollars.
Answer: D
16.  What is most likely to happen after a policy mix of expansionary monetary policy and a contractionary fiscal policy?

a)  Investment will increase

b)  Output will increase

c)  Investment will decrease

d)  Output will decrease

Answer: A
17.  The money multiplier process would come to a halt if: 

a)  No one borrowed from a bank 

b)  The banks' reserves were entirely cash in their vaults 

c)  Individuals held no currency and made all their transactions with checks 

d)  The assets of banks equaled their liabilities 
e)  All of the above

f)  None of the above
 Answer: A
18.  The transactions demand for money increases when: 

a)  The price level falls 

b)  The price level rises 

c)  Nominal income falls 

d)  Interest rates rise 

Answer: B
19. Make this statement true:  If the government decided to _______ funding of G.I. JOE, interest rates would _______ and investment would decrease.

Answer: increase, increase

20. A(n) _______ monetary policy and a(n)  _______fiscal policy would cause an decrease in output and an ambiguous effect on interest rates.

Answer: contractionary, contractionary

         PART II : Short Answer, 12 points (each question is worth 3 points).
1. Define structural, frictional and seasonal unemployment.
Structural unemployment is the portion of unemployment that is due to changes in the structure of the economy that result in a significant loss of jobs in certain industries.
Frictional unemployment is the portion of unemployment that is due to the normal working of the labor market; used to denote short-run job/skill matching problems.

Season unemployment is the portion of unemployment that occurs due to fluctuations in jobs based on the seasons.  For example, some jobs may close in the winter months.    

2. Suppose Congress passes a law to tax imports of foreign made cars.  Using a supply and demand diagram, show what happens to the price of cars in the USA, and what happens to US producers and consumers of cars?
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Originally the economy is at Q0 and P0.  When imports are taxed, this reduces the supply of cars in the USA, causing higher prices in the market for cars, P1, and a lower quantity demanded, Q1.  This reduces consumer surplus and increases producer surplus for US companies.       

3.  Explain how bond prices and interest rates are related to each other.
Bond prices are inversely related to interest rates.  For example, consider an existing bond with a coupon rate of 10%.  If the interest rate in the economy falls to 9%, investors will be willing to pay more for a bond which pays them 10%.  If the interest rate in the economy rose to 11%, investors would not be willing to pay as much for a bond which only pays 10%.
4.      What is an open market operation?  Explain how it works.

An open market operation is an attempt by the Federal Reserve to directly influence the supply of money in the economy.  If the Fed wished to increase the amount of money in the economy, they could buy bonds from the private sector.  Now, the Fed has bonds which are not considered part of M1, and the public has additional cash which is part of M1.  The Fed could also sell bonds to the private sector if they wished to decrease the money supply.  In this case, the public gets bonds which are not part of M1, and the Fed takes cash out of the economy.  
Part III.  Read the following excerpt from an opinion column in the New York Times on October 11 and answer the following questions.  Use graphs where appropriate.  (8 points)
In recent weeks there have been a number of statements from Fed officials, mainly but not only presidents of regional Federal Reserve banks, calling for an early return to tighter money, including higher interest rates. Now, people in the Federal Reserve system are normally extremely circumspect when making statements about future monetary policy, so as not to step on the efforts of the Fed’s Open Market Committee, which actually sets those rates, to shape expectations. So it’s extraordinary to see all these officials suddenly breaking the implicit rules, in effect lecturing the Open Market Committee about what it should do.

What’s even more extraordinary, however, is the idea that raising rates would make sense any time soon. After all, the unemployment rate is a horrifying 9.8 percent and still rising, while inflation is running well below the Fed’s long-term target. This suggests that the Fed should be in no hurry to tighten — in fact, standard policy rules of thumb suggest that interest rates should be left on hold for the next two years or more, or until the unemployment rate has fallen to around 7 percent.

Yet some Fed officials want to pull the trigger on rates much sooner. To avoid a “Great Inflation,” says Charles Plosser of the Philadelphia Fed, “we will need to act well before unemployment rates and other measures of resource utilization have returned to acceptable levels.” Jeffrey Lacker of the Richmond Fed says that rates may need to rise even if “the unemployment rate hasn’t started falling yet.”
1.  The article states that many presidents of Federal Reserve regional banks are calling for a return to tighter monetary policy.  What are three things that the Federal Reserve could do if they wanted to tighten the money supply?

If the Federal Reserve wanted to tighten the money supply, they could raise the discount rate, sell bonds in open market operations, or raise the reserve requirements of banks.  
2.  Illustrate, using the 3 panel diagram, what effect this would have on the economy.
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3.  Suppose that politicians in Washington are worried about the effect that monetary policy might have on the economy.  What two things could they do to counteract or reverse the effects of the Federal Reserve’s contractionary monetary policy?  

Congress could decrease taxes or increase government spending.  
